(A) I¥ = ™

@ﬁaﬁiﬂﬁ$=ﬂf A

FHHCEAR

L
LI

A
]

=
=

@%b &% R M E=

i

\J)
&

I

\J
(=

O B A EH & =

e
e

OF:

“]H

EENEHHEE= % 0

®#F # 2 Kk K=

E F AL F
b

DIVAEEHEMFAE=

@ LExBEAEER=

(B) ® & 4

Ok -2

58 ==

I ‘-H

@ E It

TR |

X alkal

QR F W B it £=4

ABEH RSO A S+E T

15%U %6 L

x100= (%) (BHINSCRDIZER R D)

X100= (%) *—7n1—3% H51.5% L

EANERAN AN

x100= (%) *—h—50% Fitt85%L T

x100= (%) 10~20%M4

ERZEyAR =T

=T sy

= (TH) FMIZLDE)PENT) PRV

x100= (%) ®WiEERW»

x100= (%) *A—7—1% 754:0.5% LA

x100= (%) EWIZERW(100%M L% 1)

x100= (%) ®EWIFERW

X—H— 3k

@ B S

i %~ W) ot

=(H) AhuvizLRey

T

15H ML

20H A

EANERl AN

CIN)



O % Kk %=
ODEERPESE=

O ffi & H E=

(C) B & &

D% £ & B &k £=
@ 10 i 8 B & =
OA B # M %=

GO# B & # m £=

©f F #* # M k=

OR & H Ik E£=
(D) % =

DIATBYVEES=
R EVEY
@ 1 N1 B& T hfifES =
D% B %k & ==
O 5 % B x=
®f 5 N — Z2=
OB R Fl # %=

§ éf Zf x100= (%) EWIZERV(100%T%5 L)

AR AT 10 %) (ot e )

ﬁ%ﬁg;ﬁfp §x100=(%) K&EwiFERW

S T X 100= (%) % RN I THA

ST AL < 100- () Do b

% ?; i ﬁ i;x100=(%) DREOL )MV L

T 100- () gAY

% iﬁ j; }: Zﬁ i x100= (%) D@QBOO®O&L)FHVOHEE

TR RIE <00- () DRBEMEOHIKY

?Mg:lﬁ;ﬁbf:ﬁ?%ﬁ?ig <100= (%) BwlEEmn
@ EEMIIETET S

’zﬁé E;'g g’; g ?5;:(%% EANTE Qe =4

ﬁ}? Fﬂjg&ﬁ% gﬁ:(%lﬂ) CTRER LT

LTI R —

2’% & 2 i,f\}\ Eﬁ (TH) AW R

fﬁf(%f ﬁﬂé‘\% x100= (%) 30~40%HikE

L Ae Sl T

B BB 00 (9 geizrae

U 1o =



